Installation Guide/ICA:

WheLEN AEROSPACE TECHNOLOGIES

Phone: (860) 526-9504 Model 7192100
Internet: www.flyWAT.com P/N: 01-0771921-00
Sales/Service e-mail: info@flyWAT.com LED Hydraulic Inspection Light Assembly

Aviation

A WARNING: This product can expose you to chemicals including Lead which is known to the State of California to cause cancer and birth defects or
other reproductive harm. For more information go to www.P65Warnings.ca.gov.

Nominal Operational Voltage: ............ 28 VDC mm
(Operational from 22 - 32 VDC) (inches)
Nominal Input Current:....................... 15 mAmps

CONTINUED AIRWORTHINESS: The hydraulic LENS -1016 X15.24 REF - IR WiENCH)

inspection light is designed with 7 white LEDs. If one I
or more LEDs fails, the unit may be replaced at the 241 { ]
discretion to the operator. (0.35)| @ ® @9;;&[&%”&28&5%
Note: To reduce eye strain, use an optical filter such l
as dark glasses or a blue covering dome during LED 4064 4J
inspection. (1.60)
Inspect the lens. If there is excessive scratching, ?1578702)
pitting, discoloration or cracking the unit may be
replaced at the discretion of the operator.

7.62 mm DEEP, #10-24 THD
PERIODIC INSPECTIONS: An annual inspection B e
shall be performed unless the OEM specifies a ‘ }
shorter interval. L jﬂj [O]
INSTALLATION PROCEDURES: The following i —
information provides guidelines for the installation of (09‘399) L—»L(??ﬁg)

the WAT LED Hydraulic Inspection light. Please

refer to the OEM manual for your aircraft for specific

removal and installation instructions.

1. Using the mounting detail information provided, WHITE - 28VDC
prepare the aircraft for means to secure the BLACK - RETURN
light assembly.

SCREW & WASHERS

+ 4
900, =40, NOT SHOWN FOR CLARITY

(35.5" + 1.5”)
MIL 22759, 22 ANG

2. Connect the light input leads. Connect the
power lead to an appropriately sized breaker.
Connections to be in accordance with FAA %
approved methods.

3. Using the appropriate hardware, install the light
to the aircraft. Insure that all leads are clear of

any obstructions and secured as required. @

4. Place the light switch in the ON position and
verify proper operation of the WAT Light.

PARTS LIST

Screw 2-56 X 1/4 P82FHMS SS

Retainer P/N 19-150994-001

Washer, #10 Flat .200” ID, .437” OD, .035” Thick
Washer, #10 Flat .631 X .060 THK/SS

Screw 10-24 X 3/8 SKTHEAD CAP SS

a B wWwN -

©2015 Whelen Aerospace Technologies
Form No. 14926A (062419)



